o H X

$=1/2000

IR L=204m
SHIEITHEZ T A=1500m2

=T s e
e
fP ';‘a,"'_:"---:é z e
o — PPt
X f . # HS‘S = - ‘.\\____:.::‘__ t‘m:—:?__'}“.‘_“‘:f
b * _.__,_‘\_:-'_‘_‘_::.—o =
e 5 2 R
X , 3,0
. = “\_ AN T il ‘\:\ \
.. S - LJ.. e e T Mo e T QI
q ? - D——,ﬂ o T _T‘;R—/’_T‘ - RN
) “mq__‘_“‘ . _*5,llllﬁmllllllllllll‘lllf/ § T :'--;;—’:wg\\ =
| Sy eae T \\\. - J /‘{ .Fw
¥ < T oeemrtT T "-“__—‘__‘_—‘--_-‘—_\-\
_.:, ’W&“M “\ ‘\\“\
3

ﬁﬁi:flggiﬁﬁiili S=1:20

EAERTEEX  s-1:10

W=/. Om
SHIEITHRZ T (EH1E)
KB (t=bcm) BAEZHEAs (13) FHEHE 2.3t/m3 R E
=% ET X M
(FS5 4 Lia— FPK=3)
TITE4 R7=t E#E3198 =-LEBXE SEI=s
=) g RIREE —CEE3 1 98
TR jg@ﬁ%: ik%j@[ TH & = HILATAS
A A
X HE 4 TEE - Z2EEK - e TEEE

HrE&Es 1 7 1

Al

ER

LA

EXEL BERAMKERRERIBREHN<=17>




